K1000 / K1002 / KI1006 IRENEEDIREE Pneumatic Chain Cutter

1.




1. KI000 / KI002 / KI006 W J&\ =0 H #U) 43455 Pneumatic Chain Cutter

FF 5%
Ref.No.

0O 1 O B~ WD —

DO DD k= e e e e
— O 000 IO\ W — O

*22

Ykl m R

Parts No.
8MF03200605A
4KI10000102
4K10000103
4KI10000104
4KI10000105
4KI10000106
4KI10000107
4KI10000108
4KI10000109
8SB36400305N
4KI10000111
4KI10000112
8SK24560405A
8MB04280807K
4KI10000115
4K100001161
8MMO06401210A
4KI100001181
2100001534
2210000423
4KI100001211
4KI10000122

o T

Description

i84% Screw (KI0101 M3-0.5%6)
f&H Chain-off Guide

¥&H Chain-off Guide

EEE)$H clamp

&€ JJR Cutting Plate
1845 Stud

EEFEHA Cutting Knife Driving Link

#hEE Washer
JEFNJTA Cutting Knife

18%% Screw (KI0110 9/64"-40%3)

% Spring

#hEE Washer
1222 Screw (KI0113 3/32"-56%4)

18%% Screw (CT0215 M4-0.7%8)

& JE%E Suction Pipe Unit
Ekf2 Ball Stud

1844 Screw (FT1103 M6-1%12)

BHAA Lever

& Washer
HES Oil Seal

#ify Shaft

#%F Chain-off Guide

* FT6510 / FT7010 A For FT6510 / FT 7010

HirH=E
Amt. Req.

UGG GV GGG N Y GG VGGG G G GG Y N



2. KI006 IRENEEIHRIEE Pneumatic Chain Cutter For K1006

[



2. K1006 % JEl =\ B 84385 E Pneumatic Chain Cutter For K1006

7 9% YrkldmaR % T HrHAE
Ref.No. Parts No. Description Amt. Req.
1 4K10000208 &R Stopper 1
2 8MMO03201406A %% Screw (K10209 M3-0.5%14)
3 2800000236 $HK B Needle Plate Seat 1




